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Section "A" 50 Marks

1. What is the working principle of satellite communication? How does it help in realizing
reliable aviation traffic? 5+5=10

2. Explain how VolP system works. Why is VolIP getting popularity over the circuit switched
voice service of the telecommunication system? The development of Internet
technologies has blurred the differences between voice communication and data

communication. In this context compare between the two systems. 4+1+5=10
3. Answer the following: A 5+5=10

a) In the context of data communications the following technologies gained popularity

in Nepal: ADSL, MPLS and WiFi. Explain their features and list their applications.

b) What do you mean by modulation? Why is modulation required in electronic
communication systems? Classify modulation techniques and state one application

for each type.

4. What are the important points in contract document related to aviation industry? What
may go wrong in agreed co}it(act document? What are the ways to solve disputes? How

do you tackle a contractor not performing as per the agreed contract document?
8+4+4+4=20

Section "B" 50 Marks

5. Answer the following: 2+3+5=10

a) Power supply is essential for all electronic system operation. Explain why:

i) Reliability and availability requirements are stringent for aviation ground
systems. :
i) Isolation, surge protection and lightening protection systems are needed in all
equipment.
b) Describe briefly what kinds of navigation systems have been used by CAAN.
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6. How can you increase the gain of VHF band antenna? Explain using facts and figures.
What are the different components of ILS? How are these components placed in a

runway? 5+2+3=10

7. Briefly explain the following: 5+5=10
a) What are the needs of standardization for CNS/ATM equipment/systems?

b) What are the fundamentals of global and Asia-Pacific air navigational plans?

8. With reference to radio spectrum management, answer the following questions:
4+8+6+2=20

a) What do you mean by radio spectrum? Explain with examples. How has the radio
spectrum been allocated into different bands and services in Nepal?

b) What is the role of ITU in general and radio spectrum management in particular?

c) In the context of Nepal, which entity/entities is/are responsible for managing radio
spectrum and what are their functions and duties?

d) Radio equipment including terminal equipment cannot be imported into Nepal
without government authority. Which entity/entities is/are responsible for
equipment authorization/approval of radio equipment in Nepal?

-The End -




